DeskiViakers




INSTALLATION INSTRUCTIONS
For STANDARD Laminate Base

Materials Needed:

1. Screws, #8 x 1-1/2”L FLH, 8 pieces
2. Screws, #10 x 1”L PNH, 12 pieces (extras included)
3. Screws, #8 x 1/2”L HXHD, 8 pieces

NOTE: Base to be positioned 20 inches from edge of table to center of laminate base.

-/

- Center of Laminate Base

Laminate Base, 2 places

Secure with
Screws, #8 x 1-
1/2”LFLH, 4
places PER BASE

DeskMakers



INSTALLATION INSTRUCTIONS

Spanning Rods, 2 47
places L

Secure with Screws,
#10 x 1”L PNH,
approximately at
10” on centers

Spanning Rods, 2
places

Secure with Screws,
#8 x 1/2”L HXHD, 2
places, 4 Locations

DeskMakers




INSTALLATION INSTRUCTIONS

For HEIGHT ADJUSTABLE Laminate Base
Materials Needed:

1. Screws, #8x 1/2”L PNH, 1 Lot
2. Screws, #8 x 3”L FLH, 6 places

1” Clear to minimize
possible pinch point
hazards

Laminate Base Assembly
(Center onto table)

Table

Secure with
Screws, #8 x
1/2”LPNHD, 4
places, 4
Locations

DeskMakers



INSTALLATION INSTRUCTIONS

Secure with
Screws, #8 x
1/2”L PNHD, 4

Secure with
Screws, #8 x

places, 4 1/2”L PNHD, 3
Locations places per
bracket

<

DeskMakers



INSTALLATION INSTRUCTIONS

/Monitor Wall

Center Laminate
Base onto the

| ——— Monitor Wall

DeskMakers




